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AAn clectron enters the mgumiiem at right angle from 1=ﬁ B is into paper. The ﬂﬁuﬁfﬁﬁ =
deflected:- () Upward (B) Towards right (C) Downward (D) Tor Rﬂ.
— s comrect relation, |

- @Wr-w'e ®) IT=10¢ (QIT=10"¢ [O}IT =10°G ul
ﬁ':ﬁﬂ mﬂmi—?ﬂ“ﬂ%ﬂﬂfﬁﬂlﬂﬁ:}iﬂ is:-

(A) L= pnde (B) L=, N?A2 (Q) L=pn*ds (B) L=p,NAE
t?} Lenz's law is in aceordance with the Law of Conservation of-
(A) Momentum {B) Energy (C) Charge
(8) At resonance frequency, the impedance of RLC — Parallel Circuit 15/~
 (A)Zero (B) Infinite (C) Minimum
{9)  InR-L-C circuit, the energy is dissipated in:-
{A) R only (B)Rand L (C) R and C
{10 To get N - type, the Ge is doped with:-
B ey Al s (B) Arsenic (C) Boron
(11)  The thickness of the basc of the transistor is of the order of:-
(A) 10°m (B} 10°m {C) 107 m

(12) The range of F.M transmission frequencies is from:-
(B) 88 kHz to 108 kHz {C) 88 MHz to 108 MHz
(13)  Two Photons approach each ather, their réTaﬁW&peaﬂ,
m) 2:C (B) E;e‘m
© (4) ___hasthe largest de Broglic vaveleng
{f&"n} Proton
; ‘['[1e ‘number of Neutrons in ‘H“tf




(3)

4

(3)

(6)

(7

(%)

(%)

(10)

(11}

(12)

(13)

(14)

(13)

The electric field created by positive charge is-
(A) Radially inward (B) Zero

(C) Circular

The unit of Electric intensity other than NC™ is .
w Y, ® ¥ © Y ® Ny

Resistance tolerance for gold colour is:- i

(A) 50 % (B) 30 % (C) 20 % (D)5 % |
The SI unit of magnetic induction is:- :1i
(A) Weber (B) Tesla (C) Gauss (D) Newton il
The value of ¢/, is smallest for:-

{A) Proton {B) Electron (C) 8 - particle (D) Positron

When motor is just started, back emf is almost:-

(A) Maximum (B) Zero {C) Minimum (D) Infinite

Henry is SI Unit of:-

{A) Current {B) Resistance (C) Flux (D) Self induction

High frequency radio wave 15 called as:-

(A) Fluctuative wave {B) Carrier wave (C) Matter wave {D) Mechanical wave

The tmpcdm:r Z can be expressed as:-

(A) £ = .r tBr?-f,—' (CyZ=1+F E=1-¥
v ' atic limit is reached are called as:-

Substances which break just after the elastic
{A) Ductile Substances
The Boolean expression of NAND Gate 1s:-

(A) X=A.8 (B) X = 4

Automatic functioning of streetlight can be done by the use of:-

(A) Inductor (B) Capacitor

The dimensions of Planck’s Constant is same as that of:-

(A) Energy (B) Power

(B) Hard Substances (C) Brittle Substances (D) Soft Substances

(C)X=AB D)y X=A4+B

(C) Comparator (D) Thermastor

(C) Acceleration (D) Angular Momentum

The Photon with energy greater than 1.02 MeV can interact with matter as:-

(A) Photoelectric Effect
In electronic transition, atom can not emit:-

(A) y rays

(B) Ultraviolet rays  (C) Visible light (D) Infrared
-m mmmmhmuww .

(B) Compton Effect  (C) Pair Production (D) ﬂmﬂﬂhﬁmuﬂm




e

rays s the reverse process of -
(B) Pair production  (C) Pair annihilation (D) Photo electric effect

@ Emﬂitm chtin Teaction is controlled by:-

tﬂ}@aﬂmm rods (B) Iron rods (L) Platinum rods (D) Steel rods.
{5} One Joule is equal to:-
(A) 1.6 % 107" e} (B) LEx10"eF  (C)625x10™el (D) 6.25x 10"l
(6) Capacitance of parallel plate capacitor is:-
(4“4 ®) %o © 4 o 4
(7) T]m:e 1 uhm resistors are mnn:-:tud to form a triangle, tha:es:stamx: between any two comners is:-
(A} ﬂ (B) Eﬂ (C) E (D) 302
{8) An ele::tmn enters the magnetic field at right angle from left, B is into paper. The electron will be
deflected:- (A) Upward (B) Towards right  ({C) Downward (D) Towards left
(99 s correct relation.
(A 1T =10°G (BYIT =107 € IT =107 G () 1T =10°G
(10) The self inductance of solenoid is:-
(A) L=punAf (B) L=p N'AE (O L=pn' Af (D) L= NAE
{11) Lenz's law is in accordance with the Law of Conservation ofi-
{A) Momentum (B) Energy {C) Charge (D) Angular momentum
(12) Atresonance frequency, the impedance of RLC — Parallel Circuit is:-
{(A) Zero (B Infinite (C) Minimum (D) Maximum
(13) In R-L-C circuit, the energy is dissipated in:-
(4) R only (B)Rand L (C)R and C (DYR. Land C
(14) To get N —type, the Ge is doped with:- s ,ﬁ |
(A) Aluminium (B) Arsenic (C) Boron (D) Indium F sk )
(15)  The thickness of the base of the transistor is of the order of:- .Jis - . . il
(A) 10°m (B) 10°m (C) 107 m :@}--lﬂﬁ‘ﬂé%iﬁ i

(16) The range of F.M transmission frequencies is from:- } 540 kHz to 1600 kHz
(B) 88 kHz to 108 kHz (C) 88 MHz to 108 MHz (D) 540 MHz to 1600 M

(17) Two Photons approach each other, their relative speed will *FT_@';Z"
(B} Zero (C)LlessthanC

(A)2C
19(0b])(3 10)-2016(A
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{B]mtmrlnh!url (C) Visible light

Nuclear fission chain reaction is controlled by using:-
(A) Steel rods (B) Graphite rods  (C) Cadmiium rods (D) Platinum rods.
The most useful tracer isotope for the treatment of Thyroid gland is:-
{A) Cobalt 60 (B) Carbon 14 (C) lodine-131 () Strontium 90
The electric field created by positive charge is:-
(A) Radially inward (B) Zero (€) Circular (D) Radially outward
The unit of Electric intensity other than NC ' isi-
A ¥/, ® ¥/ © Y ® N,
Resistance tolerance for gold colour is:-
(A) 50 % (B) 30 % (C) 20 % (D)5%
The S unit of magnetic induction 15:-
(A) Weber (B) Tesla () Gauss () Newton
The value of 5':,, is smallest for:-
(A) Proton (B) Electron (C) [ - particle (D) Positron
When motor is just started, back emf is almost:-
{(A) Maximum (B) Zero (C) Mimmum (D) Infinite
Henry is S1 Unit of:-
(A) Current {B) Resistance {C) Flux (D) Self induction
High frequency radio wave is called as:-
{A) Fluctuative wave (B) Carnier wave (C) Matter wave (D)) Mechanical wave
The 1mpednnce Z can be expressed as:-
mg;f q_mzd:,—' C)Z=1+V  ([D)yE=l-¥
Substances which break just after the c!.u.;ic limit is reached are called as:-

(A) Ductile Substances (B) Hard Substances (C) Brittle Submmm}mm
The Boolean expression of NAND Gate is:-

(A) X=4.8 B)X=4 C)X=AB
Amm:ﬂcﬁmwnmgofmﬂ:ghlmh done by Humeuh-_




(4)

(5)

i6)

(8)

(9)

{10}

(1)

(13}

(14)

(15)

(16)

(17)

(D) Maximum
In R-L-C circuit, the energy is dissipated in:-
(A) R only (B)Rand L (C) R and C (DR Land €
To get N - type, the Ge is doped with:-
(A) Aluminium (B} Arsenic (C) Boron (D) Indium
The thickness of the base of the transistor is of the order of -
(A) 10°m (B) 10 m (€110 m (D) 107 um
The range of F.M transmission frequencies is from:-  (A) 540 kHz to 1600 kHz

(B) 88 kHz to 108 kHz (C) B8 MHz to 108 MHz (D) 540 MHz to 1600 MHz
Two Photons approach each other, their relative speed will be:-

(A)2C (B) Zero (C) Less than C (M

— has the largest de Broglie wavelength at same speed.

(A) Proton (B) & - particle (C) Carbon Atom (D) Electron
The number of Neutrons in 22/ is:-

(A)92 (B) 238 (C) 146 (D) 330

Production of X - rays is the reverse process of:-
{A) Compion effect (B) Pair production  (C) Pair annihilation (D) Photo electric effect

Fission chain reaction is controlled by -

{A) Cadmium rods (B) lron rods (C) Platinum rods (D) Steel rods

One Joule is equal to:-

(A) 1.6 x 10"el (B) 1.6 x 10"V (C) 625=10"el (D) 6.25 x 10" eV

Capacitance of parallel plate capacitor 15:-

E.d/ g, d/ . d

(A) r/(.#' (B 14 (C) s.d (D) a4

Three | ohm resistors are connected to form a triangle, the resistance between any two comers is:-
2 3 1

(A) Eﬂ (B) ;ﬂ (C) En (Dy 302

An electron enters the magnetic field at right angle from left, B isinto paper. The electron will be

deflected:- (A) Upward  (B) Towards right  (C) Downward (D) Towards left

is correct relation. .
E!

BT =10°G  (©IT=10"G (DT =10°G

(A)IT =10'G

The self inductance of solenoid is:-

(A) L=pnAl (B) L= u N4t
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(A) Weber (B) Tests () Gouss
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The impedance # can be cxpressed as -
ih}f!-;l m;a‘-{fu (Cy&mwlsV &=~V

- -
Substances which break just after the elastic limat i reached are called as'-
(A) Ductile Substances (1) Hard Substances (1) Bentle Substances (1) Soft Substances
The Bovlean expression of NAND Crste 4.-

(A) X=A. B (B) X =4 C)X=AB D) X=As B
Automatic functioning of streethight can be done by the use of -

(A) Inductor () Capacrtor (C) Commparator (I3} Thermistor

The dimensions of Planck’s Constant is same as that of:-

(A) Energy (B) Power (C} Acceleration (13) Angular Momentum

The Photon with energy greater than | 02 Me can imteract with matier as:-
(A) Photoclectric Effect (B) Compion Effect  (C) Pasr Production (D) Annihilation of Matter

in electronic tansition, alom can not emat -

(A) y rays (B) Ultraviolet rays () Visible light (D} Infrared
Nuclear fission chain reaction is controlled by wwng -

{A) Steel rods (B) CGraptute rods  (C) Cadmium rods (D) Platinum rods
The most useful tracer isctope for the reatment of Thyroid gland 15:-

{A) Cobalt 60 (B) Carbon 14 (C) lodine-131 (D} Strontium 90
The electric field created by positive charge is.-

(A) Radially mward (B) Zero (C) Corcular

The unit of Electric intensity other than NC ™ is-- _
Y, ® " © Y% o N
Resistance tolerance for goid colowr - 4
(A} 50 % (B) 30 % (€)1 20%

The S1 onit of magnetic induction is:-
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(5)
(6)
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(%)
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(1

{11

(12}

{13)

(14)

(15}

(16)

(17

W L=pndt @B L=pNAL ©L=pn Al (D) L = m.NAL
Lenz’s law is in accordance with the Law of Conservation of:-

(A) Momentum (B) Enesgy (C) Charge (D) Angular momentur
At resonance frequency, the impedance of RLC — Parallel Circuit is=-

(A) Zero (B) Infinite (C) Minimum (D) Maximum
In R-L-C circuit, the energy is dissipated in:-

(A) R only (B) R and L. (CyRand C (DR, Land C
To get N — type, the Ge is doped with:-

(A) Aluminium (B) Arsenic (C) Boron (D) Indium
The thickness of the base of the transistor is of the order of:-

(A) 10°m (B) 10°%m (C)107'm (D) 107" um
The range of F.M transmission frequencies is from:- (A) 540 kHz 10 1600 kHz

(B) 88 kHz 1o 108 kHz (C) 88 MHz 10 108 MHz (D) 540 MHz to 1600 MHz

Two Photons approach each other, their relative speed will be:-
{C) Less than C myC

(A)2C (B) Zemo
has the largest de Broglie wavelength at same speed.
(A) Proton {B) & - particle {C) Carbon Atom (D) Electron

The number of Neutrons in 51/ is:-

{A) 92 (B) 238 (C) 146 (D) 330

Production of X — rays is the reverse process of:-

(B) Pair production (C) Pair annihilation (D) Photo electric effect

{A) Compton effect

Fission chain reaction is controlled by:-
(A) Cadmium rods (B} Iron rods (C) Platinum rods (D) Steel rods

One Joule is equal to:-
(B) 1.6 x 10" eV (C) 625=10"eV (D) 6.25 x 10" eV

(A) 1.6x 10" eV
Capacitance of parallel plate capacitor is:- e
£,d B) £, 4 © d
), o Ok O
Three | ohm resistors are connected to form a triangle, the resistance between any two Cornel
2 3 1
= B) =0 -0
(A) 3 Q (B) 5 (C) 3
An electron enters the magnetic field at right angle from left, B il“w‘ he elec:
deflected:- (A) Upward  (B) Towards right A Toy :



(3)

(4)

(5)

(6)

(7)

(8)

(9)

(10)

()

(12)

(13)

(14)

:ﬂ

ot filled, num“nﬂm#'” |

When motor is just started, back emf is almost:-

VA) iclemny (B) Zero (C)Minimum ~ (D)Infinite
Henry is S1 Unit of:- o
(A) Current (B) Resistance (C) Flux (D) Self induction
High frequency radio wave is called as:- e
(A) Fluctuative wave (B) Carrier wave  (C) Matter wave (D) Mechanical wave

The impedance # can be expressed as:-

(W) & == mz=l=  ©z-1ev  @2=1-¥
Substances which break just afler the elastic limit is reached are called as:-

(A) Ductile Substances (B) Hard Substances (C) Brittle Substances (D) Soft Substances

The Boolean expression of NAND Gate is:-

(A) X=4.8 B) X =4 (C)X=A.B D) X=A+8
Automatic functioning of streetlight can be done by the use of:-

(A) Inductor (B) Capacitor (C) Comparator (D) Thermistor

The dimensions of Planck’s Constant is same as that of:-

(A) Encrgy B) Power {C) Acceleration (D) Angular Momentum
The Photon with energy greater than 1.02 MeV can interact with matier as:-

{A) Phowoelectne Effect (B) Compton Effect (C) Pair Production (D) Annihilation of Matter
In electronic transition. atom can not emit:-

(A) r rays {B) Ultraviolet rays  (C) Visible light (D) Infrared

Nuclear fission chain reaction is controlled by using:-

(A) Steel rods (B) Graphite rods ~ (C) Cadmium rods (D) Platinum rods

The most useful tracer isotope for the treatment of Thyroid gland is:-

(A) Cobalt 60 (B) Carbon 14 (C) lodine-131 (D) Strontium 90

The electric field created by positive charge is:- | |
(A) Radially inward (B) Zero (C) Circular {[}}mm |
The unit of Electric intensity other than NC ™ is:-

v ® ", © % o ¥ ol i




‘What is Uncertainty Principle?
In a certain circuit, the ransistor

What is the current gain of the transistor”

Define lsotopes. Damﬂhﬁslm'sm;pcmm;hnﬂhnwhmh:uudm

separate the isotopes of an element” r
(b) Calculate the longest wave length of radiation for the Paschen senes.

SECTION-III (PRACTICAL)

10. (a) Give answers to any Four. N NP
(i) 'What is Equivalent Resistance in case of in i’uail_-:] combination?
(i) What is the unit of Potential Difference” Define it
(i) Why we use Weston type moving coil galvanometer? :
(iv) What is the difference between emf and Terminal Potential Difference?
Do the filament of lighted bulb obey Ohm’s Law or not? Explain, _
(vi) Draw the circuit diagram to compare the emf of two cells by using Potnetiometer.
(vii) Draw symbol and truth table of AND Gate
(viii) What is meant by Work Function” Write its umit.

Explain it.

has i collector current of

{11)Find the slop of graph.
{11) Find the resistance of galvanometer.

10mA and a base current of 40,4

4x2=8

(b) Write down the procedure of experiment fo find the resistance of a wire by slide Wire Bridge.

Write down the procedure of experiment to study the characteristics of a semi-conductor diode.
Answer the question given below on the basis of the following graph.
What do you infer from the graph?
What do vou infer from the graph?
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{wil)
{viii)
(ix)
(x)
(x1)

(xii)

(i)
(i1)
(1i1)
(iv)
(v)
(vi)
(vii)
{viii)
(ix)

i i g o
::hﬁ%ﬂnuh- Cathode Ray Oscilloscope?
hmwm;mmm

mhhﬁmm-wmmmm:mhwmﬂ‘““?
thﬁmmmhrcmmuﬁﬁﬂty of a galvanometer?

State Faraday's Law. Also write its muthematical expression.

Show that € ang “%, have the same units.
Dﬂﬂﬂﬂmhﬁmwdmﬁmmdﬁmmmnmmmamﬂ? Explain.

How the efficiency of a transformer can be improved?
Atteupunr!;l'ht parts.

I the filament resistance lower or higher in & SO0W. 220V light bulb than in a 100W, 220V bulb?
Why does the resistance of a conductor rse with temperature?

State KirchhoiT's First Rule.

How does doubling the frequency affect the reactance of (a) an inductor {(b) a capacitor?
Define Instantaneous Value and Peak Value of Current.

How many times per second will an incandescent | : e
connected to a 50Hz source”? scent lamp reach maximum brilliance when

What is Elasticity and Plasticity?
Distinguish between Intrinsic and Extrinsic Semi-conductor.

B=2=16

Define (i) unit cell {11) crystal lattice
Why charge carriers are not present in the depletion region?
Why ordinary Silicon does not emit light?

Why a Photodiode is operated in reverse biased state?

Attempt any Six parts, 6x2=12

What advantages an electron microscope has over an optical microscope?
Why don’t we observe a Compton effect with Visible light?
Photon 4 has twice the energy of Photon B, What is the ratio of the momentum of A to th
Define lonization and Excitation Potential, i
Give any two uses of laser in Medicine.
What is meant by Population Inversion and Lasing Action?
How can radioactivity help in the treatment of Cancer?
A particle which produces more lonization is Eﬁ enetrating




mﬁmwmm-ﬂmww o
the de Broglie hypothesis? |
(b) The current flowing into the base of a transistor is 100 ud Find collector current if § = 100

9.(s) Whatis LASER? Write down its propertics. Explain how Helium-nean laser works?
(b) Find the mass defect and the binding energy for Tritium,
if the atomic mass of tritium is 3.016049 .

SECTION-111 (PRACTICAL) :
4x2=8
10. (a) Give answers to any Four. ;
l.'i'.;f ]I}dhu Specific ]l'.c.sisu:nc and give its formula. (ii) Define Potential Dal!l.'uln; ::Lliﬂ its unit.
(iii) Write the truth table and symbol for OR Gate. (iv) Define Current and give
(v) Does the filament of bulb obey Ohm’s Law? Why? (vi) What l:‘.ThmlhﬂH F
{vii) Write the names of two sensors. (viii) What is Shunt?

(b) Write down the procedure for finding the resistance of Galvanometer by half deflection method. {
OR _
Write the procedure for the study of variation of electric current with intensity of light
using a Photo Cell. I g o R
(¢) Answer the questions given below on is of following giver -
Graph-A (i) What do you infer from the graph? (ii) Find the resistance of galvanometer from the graph.
OR
-B (i) What do fer form the graph? (i) Find the slope between Current and Volage.
Graph-B (1} you infer grap - i
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(vid)
(viii)
(1x)
(x)
{1}

{xii)

(i)
(i)
(i)
(iv)
(vl
(vi)
{vii}
{viii)

(ix)

(xi)

(xii}

(i)

-------

“mﬁwnmm al or o
huummhﬂkaﬂﬁﬁ
Write two uses of CRO.

Why does the picture on a 1. screen become distorted when 8 magnetis brought
Why the resistance of an ammeter should be very low? s o
Hmmmmumﬁﬂdmmwdmw
Show that € wﬂ% have the same units.

Does the induced emf in a circuit depend on the resistance of the circuit?

Four unmarked wires emerge from a transformer. What steps would you take to
determine the tums ratio”
How fluctuations of the output can be reduced in D.C generator”

Attempt any Eight parts. -I_x;?l-r,ﬁf

Do bends in & wire affect its electrical resistance”? Explain briefly.
Why does the resistance of a conductor rise with temperature”
What is meant by Tolerance? Also give onz example.
What is meant by A.M and F.M? Also give their range.
A Sinusoidal current has rms (effective) value of 10A. What is the maximum or peak value?
What is Choke? Explain briefly.
Distinguish between Crystalline and Amorphous solids.
What is meant by Hysteresis loss? How is it used in the construction of transformer?
Define a superconducior with one example.
Why charge carriers are not present in the depletion region?
What is the biasing requirement of the junctions of a transistor for its normal operation?
Why Ordinary Silicon diodes do not emit light?
Attempt any Six parts. 6 ﬂgnﬂ ¢
Will higher frequency light eject greater number of electrons than low frequency m _:
Which Photon red, green or blue carries the most energy and why? :
Is it possible to create a single electron from energy? Explain.
What do we mean when we say that atom is excited?
-mewmmwm = 4
e s oo e ing. Why?




